INSTRUCTIONS

The following paragraph contains 7 errors. Correct the errors. Note that there can be only one error
per line.

Please write in a legible way. If you make any corrections, please make sure it is clear what your final
answer Is.

Correcting errors:

e Underline the incorrect part of the line and write the correction in the empty space
on the right.

e [faword is missing, indicate where it should be by putting an insert mark(\() and
write the missing word in the empty space on the right.

e Ifthere is an extra word in the line, underline it write it in the empty space on the
right and cross it out.

e Ifthere are no errors in the line, put a tick mark (\/) in the empty space on the
right.

It is often the case that the principle street of an English town or city is 1

called after the High Street, and in the past it would have been there that | 2

people use to meet, do business and go shopping. However, over the 3
last few decades, Britain, like other developing countries, has seen 4
“giant” supermarkets and major new shopping centres springing on 5
the outskirts of urban areas or in locations who are easily reached by 6
car and have ample parking. The appearance of these new temples of 7
retailing is both the result and the cause of the phenomena known as 8

the “death of the High Street”. 9




SOLUTION

It is often the case that the principle street of an English town or city is 1 PRINCIPAL
called after the High Street, and in the past it would have been there that | 2 AEFER
people use to meet, do business and go shopping. However, over the 3 USED

last few decades, Britain, like other developing countries, has seen

4 DEVELOPED

“giant” supermarkets and major new shopping centres showingYon 5 UP
the outskirts of urban areas or in locations who are easily reached by 6 THAT
car and have ample parking. The appearance of these new temples of 7 v

retailing is both the result and the cause of the phenomena known as

8 PHENOMENON

the “death of the High Street”.

9 v




